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322 — 11z — 4 |
1. Reduce to its lowest terms.
6x2 — Tz — 3
A r — 2
" 2r — 3
r —4

B.

2r — 3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1wHKIEj34zqi

c r—1
" 2x — 3
r—4
r — 3

Answer: B

° Watch Video Solution

2. What should be subtracted from

4
Tz +4

get ?

r—3

20 — 3
rz+1

Tx

2+ — 12

to


https://dl.doubtnut.com/l/_1wHKIEj34zqi
https://dl.doubtnut.com/l/_HZaNEHdKJRke

Answer: D

o Watch Video Solution

) z2 —1 T+ 2
3.Find the product of and

x? +1 z+1

A.m2+:1:—2
x2 4+ 1
T — 2
241
2 — 2
x? + 1
z? — 2
x+1

D.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HZaNEHdKJRke
https://dl.doubtnut.com/l/_62OWHMBOTk11

1
, then find
r—3 T

° Watch Video Solution

Exam Booster For Cracking Exam

1. Which of the following algebraic expressions are

polynomials?



https://dl.doubtnut.com/l/_pPZUQBKsXMlA
https://dl.doubtnut.com/l/_wLhFMhxv7sSp

Lz + 3z +4,1.2° + 27 + 4
. z% + v — 1,1IV. 2 + 3z + 4
A L1l and Il
B. Only IV
C. All of these

D. None of these

Answer: B

° Watch Video Solution

2. Which of the following are rational expressions ?

x3 — 3x2 + 2 23 — 322
x2 +1 22+ 3



https://dl.doubtnut.com/l/_wLhFMhxv7sSp
https://dl.doubtnut.com/l/_69qU6L2XvEu1

z2 — 1 + 2 x3 4+ 3x2 — 1

1. 713 , IV. zcz—l—\/m
A L Iland Il
B. Only IV
C. All of these

D. None of these

Answer: A

° Watch Video Solution

1 —1
3.If A = Tt and B = v ,then A+ B is:
rz—1 z+1
2(z? — 1)

x2 4+ 1


https://dl.doubtnut.com/l/_69qU6L2XvEu1
https://dl.doubtnut.com/l/_PqftOElFho8K

2(z? 4+ 1)

B.
(z — 1)°
z2 4+ 1
T2 -1

D. None of these

Answer: D

° Watch Video Solution

4.If R = F and S = a2_a+1,thenR+Sis:
—1 a+1
a—1
a+1
1
a’+a+1



https://dl.doubtnut.com/l/_PqftOElFho8K
https://dl.doubtnut.com/l/_KXweGBPidFP4

a(a3 + 2a2 — 2a + 3)

D.
a2 —1

Answer: D

o Watch Video Solution

5. The expression to be added to (5332 — Tx + 2) to
produce (7$2 — 1) is:

A.2z° + Tz — 3

B.2z% + 3

C.2z° — 3

D. 222 + Tx


https://dl.doubtnut.com/l/_KXweGBPidFP4
https://dl.doubtnut.com/l/_uLUf85KzSoTo

Answer: A

o Watch Video Solution

22— —2

6. in lowest term is:
222 +x — 3

A rz—1
" 2x + 3

. x2 —x — 2
222+ x — 3

r — 2
2x + 3

z+1
r—1

C.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uLUf85KzSoTo
https://dl.doubtnut.com/l/_JUvrRe8VNFUD

a-+ 2 a—|—1..
p—— a+2|s.

7.The simplified form of

A
a? 4+ 5a + 6

5 a + 2
"a? +5a+6

C.0

(a+2)°
D.
a’+ 5a + 6

Answer: A

o Watch Video Solution

r+1 2 . ..
8. — — | expressed a rational expression is:
2 —1 T

x2 — 2

A z(z? — 1)


https://dl.doubtnut.com/l/_D2mholhcjipW
https://dl.doubtnut.com/l/_eQXM3M52bKXX

T — 2
z(x — 1)
2(z + 1)
z3 — 1

1
z(z + 1)

C.

D.

Answer: B

° Watch Video Solution

e z +6
9. The product of additive inverse of and
x + 2
Sr + 2 |
F 3

N 5r? + 32z + 12
5x2 — Tx + 6

5 5z? + 32z + 12
522 + T7r — 6

c 522 + 32z + 12
" bx2+Tx+6



https://dl.doubtnut.com/l/_eQXM3M52bKXX
https://dl.doubtnut.com/l/_Qh14U8FtNuWj

D. None of these

Answer: B

o Watch Video Solution

10. Which rational expression should be added to

5133—1t t2x3—ac2+3
o ge
x2 + 2 & x2 + 2
A1l
x> —x2 —4
x2 + 2
x> —x2+4
x2 + 2

D. None of these


https://dl.doubtnut.com/l/_Qh14U8FtNuWj
https://dl.doubtnut.com/l/_WkNJjFKLmL0o

Answer: C

o Watch Video Solution

1. The value of:

1+ ! 1+ ! 1+ ! 1+ !
a—+1 a—+ 2 a—+ 3 a-+4

is

a—+5
A.

a—+1
5 1
"a+1

Ca+5b

D. None of these

Answer: A


https://dl.doubtnut.com/l/_WkNJjFKLmL0o
https://dl.doubtnut.com/l/_fg09HIz9El8W

o Watch Video Solution

(z — 1)(z — 2)(2* — 9z + 14)
12. The expression in
(z — 7)(z? — 3z + 2)

the lowest terms is:

Ax+ 2

B.x — 3

Czx+3

D.x — 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fg09HIz9El8W
https://dl.doubtnut.com/l/_J1oqYyNfxQUX
https://dl.doubtnut.com/l/_eMAopvQxVS6w

_ b —
13. The value of a-c + ¢ is:

(a —b)(z — a) (b—a)(z — b)

r —C

NCEDICED

PR ST
C. I —C

(z — b)(a — x)

D. None of these

Answer: A

o Watch Video Solution

Tz —3

and its
x2 +1

14. The sum of the rational expression

reciprocal is


https://dl.doubtnut.com/l/_eMAopvQxVS6w
https://dl.doubtnut.com/l/_u7znoMpcvkIr

A 2z% — 6z + 10
x—3
z* + 322 — 6z + 10
3 —3z2+x —3
c z* + 222 — 62 — 10
C 23322+ —3

B.

D. None of these

Answer: B

o Watch Video Solution

1 1
15.1f A = 4z + ;,then the value of A + 1 is:

T
A —
422 + 1
. 422 4+ 1
T


https://dl.doubtnut.com/l/_u7znoMpcvkIr
https://dl.doubtnut.com/l/_8UuKSvy4GCmv

1
473 + x

D. None of these

Answer: D

° Watch Video Solution

16. If x =

d v=
bany

D. None of these

——, then the value of
a+b
1 1.



https://dl.doubtnut.com/l/_8UuKSvy4GCmv
https://dl.doubtnut.com/l/_7MZQT6ZFIIKh

Answer: A

o Watch Video Solution

B.2

C.1

D. None of these

Answer: A


https://dl.doubtnut.com/l/_7MZQT6ZFIIKh
https://dl.doubtnut.com/l/_Jg6Bf0QZnExS

o Watch Video Solution

1
18.|fA:<w )and B:(
r+1

value of (A + B)?* is:

A 4> + 822 + 4
o222 —1
5 4z* + 82% + 4
Szt 4222 — 1
c 4z* + 8z% + 4
Szt — 22241

D. None of these

Answer: C

1
Tt 1), then the

w_

o Watch Video Solution



https://dl.doubtnut.com/l/_Jg6Bf0QZnExS
https://dl.doubtnut.com/l/_aiSGL2EwFbxx
https://dl.doubtnut.com/l/_IPeCknB3IzDx

B.O

C.2

D.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IPeCknB3IzDx

20. The value of

A x2y2z2
B. — w2y2z2
C.— w2y2

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RobcArVWMSSS

21. If a, B and v are the roots of the cubic equation

(z —1)(z* +z +3) =0,

ad + B3+ 43

A3
B.O
C.9

D. None of these

Answer: C

then

the

value

of

° Watch Video Solution



https://dl.doubtnut.com/l/_d33uRGegm2R1

22. When z° -5z +92° — 62° — 162 + 13 is
divided by z?> -3z +a , then quotient and
remainders are z® —2z®> + 2z +1 and —15z + 11
respectively . Find the value of a.

A2

B.5

C.7

D.9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UlabWdXXrvc2

